H £ 0l & AF & S

SA: XIOHHe ot
M XHEGlE HZEAl D=
CHR s XIOHOI2E 2t

Al A

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

XI0HQHA! 1t 3,449,220 3,364,289 84,931
Jl 1,097,320
== 474,240
Al 1,877,660

XA = HS Al JIgta= 3,125,300 3,113,189 12,11
Il 857,320
< 474,240
Al 1,793,740

XIOHO 222 3,125,300 3,113,189 12,11
Il 857,320
== 474,240
Al 1,793,740

At dE2d 195,000 96,000 99,000
7l 156,000
Al 39,000

201 er2 3| 166,000 84,000 82,000
Il 132,800
Al 33,200

01 At2teltl 134,000 52,000 82,000
ORI HE =S 134,000
) 107,200
Al 26,800

02 S3=gHl 32,000 32,000 0
Oss2= & SSMY =Xl S 32,000
Jl 25,600
Al 6,400

202 04l 20,000 12,000 8,000
Jl 16,000
Al 4,000

01 =LHAHI 20,000 12,000 8,000
OXIf2elAIE = 20,000
) 16,000
Al 4,000

405 AtatE = 9,000 0 9,000
Jl 7,200
Al 1,800

01 AL =S F = 9,000 0 9,000
ORI HE 2 9,000
Jl 7,200
Al 1,800

XIOHER R OFS X2 A 793,000 428,488 364,512
) 404,000
Al 389,000




2A:
X XH -
o e

=aak

XI0§QH&) It
THAT= HBEAl Jjer

XIOHO 22

A

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

201 er23 | 60,000 43,500 16,500
Jl 48,000
Al 12,000

01 At2teltl 60,000 40,000 20,000
OXI0He At & IHEEXIZ ALY 60,000
) 48,000
Al 12,000

301 EtE NS 25,000 4,988 20,012
Jl 20,000
Al 5,000

11 AALEEIXIE S 25,000 4,988 20,012
oxzd 2d 25,000
Il 20,000
Al 5,000

307 el2to| & 708,000 380,000 328,000
) 336,000
Al 372,000

0122 € /=4 708,000 380,000 328,000
OXIHEk 25285 N S 708,000
Il 336,000
Al 372,000

XIOHZ=D I B &AL 150,000 103,879 46,121
Il 120,000
Al 30,000

201 Ler23| 117,416 67,879 49,537
Jl 93,933
Al 23,483

01 AtR2t2|HI 117,416 67,879 49,537
OXINZ=I 1B EAL 117,416
) 93,933
Al 23,483

301 22N 32,584 36,000 A3,416
7l 26,067
Al 6,517

11 dALEEIXIZE S 2,400 0 2,400

OxHEsd=I |12 2 NE & X235

T2 ME S 2,400
Jl 1,920
Al 480

4Bt 2as 30,184 36,000 Ab,816
OEgE2AAN =& 30,184
Il 24,147
Al 6,037




2A:

X XH -
o=

XIOHQH&S ot
ANHHE S E HdLEAl JIE3=

chel: XI0HO ek 2te] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
XIOK Z=J1B&Hl K& 100,000 100,000
307 elztol & 100,000 100,000
0192 & 3=H| 100,000 100,000
OXIONB&ldl XI& 100,000
ROFIADHSE & WFS2 A 150,000 88,000 62,000
) 120,000
Al 30,000
201 et 3| 112,000 80,000 32,000
Il 89,600
Al 22,400
01 At22t2lt] 72,000 50,000 22,000
OXIHAADNE At =& 52,000
Jl 41,600
Al 10,400
OXION ol HLHEXIE ALY =& 20,000
) 16,000
Al 4,000
03 &A= 40,000 30,000 10,000
OXH== ZIIAF & XIU== F2LHEAL
S 40,000
7l 32,000
Al 8,000
301 EtE NS 8,000 8,000 0
Jl 6,400
Al 1,600
11 #AIAMHIXIZ S 8,000 8,000 0
OXIOHAADNE ALY =& 8,000
Jl 6,400
Al 1,600
308 AHXIHMSO0IA 30,000 0 30,000
7l 24,000
Al 6,000
18 SIS0t 4 A A A 30,000 0 30,000
OXION S=2d4 £ 30,000
Jl 24,000
Al 6.000
XIOHXIZ2eld] K& (HEAY) 729,600 603,618 125,982
=S 474,240
Al 255,360
308 AtXIEMSOIE 729,600 603,618 125,982
== 474,240
Al 255,360
13 S [2S0He 4 A AS A 729,600 603,618 125,982




SA XIOHCHa
M XA HBEAl Jg1=
2l XK 2ke (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXIHXIZ2eld] K& 729,600
= 474,240
Al 255,360
NS QAEH SSAE AE 110,000 100,000 10,000
Il 55,000
Al 55,000
307 21201 & 110,000 100,000 10,000
Jl 55,000
Al 55,000
02 LB HANHEE 110,000 100,000 10,000
ORI RAE A SSAI XA 110,000
Jl 55,000
Al 55,000
SSA =L SS=H K2 AL 2,900 1,404 1,49%
) 2,320
Al 580
201 er=2 3| 500 500 0
Il 400
Al 100
01 AtR2tc|bI 500 500 0
OSSR S22 XA 500
2l 400
Al 100
301 LEtE NS 2,400 904 1,49%6
Jl 1,920
Al 480
4Bt 2 a3 2,400 904 1,496
OSSN SE2A XA 2,400
) 1,920
Al 480
XX 2ci8l 20 XI2AALE 648,000 1,440,000 AT792,000
308 AHXIHMS0IA 648,000 0 648,000
13 S [2S0He 4 A AS A 648,000 0 648,000
OALBEE 2B I FSALS 120 £2
XIOH CHatAt =183 K 648,000
XOHEX SSHE KA 140,000 140,000
307 elztol & 140,000 140,000
01 2g & 3=H| 140,000 140,000
OXIlHet it == N&H 140,000
BiSIXIOH2tA &5 ol S0 XI3AA 18,000 10,000 8,000
201 fer= 3| 18,000 0 18,000
01 At 2|l 18,000 0 18,000
Ot X0t &5 o Xd =57 18,000




SA: XIOHHe ot
M XHEGlE HZEAl D=

chel: XI0HO ek 2te] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
XIOHEX QISXIS(Al) SSE XA 87,000 0 87,000
201 er23 | 87,000 0 87,000
01 At2teltl 87,000 0 87,000
OXIOHEXL ASXS(Al) S22 o= 87,000
XIOH 2l At =& 1,800 1,800
203 HR=4AY] 1,800 1,800
03 A= PR F&| 1,800 1,800
OXIH22IAIY =& 1,800
YA ZHI(XI0HrY D) 323,920 251,100 72,820
Jl 240,000
Al 83,920
QI 2HHI(XI0H &I t) 300,000 226,000 74,000
) 240,000
Al 60,000
XOHety M 2E olAH| 300,000 226,000 74,000
Il 240,000
Al 60,000
101 ©1AH| 266,400 200,000 66,400
7l 213,120
Al 53,280
03 SR (RINHA) 222+ 180,000 200,000 /20,000
OIS HE 2 S2H 180,000
Il 144,000
Al 36,000
04 JIZtNZ22 NS+ 86,400 0 86,400
OXIMfetadiE 2EXH JI2tZ2 2 Xt 86,400
) 69,120
Al 17,280
WM HsEE=S 33,600 26,000 7,600
Jl 26,880
Al 6,720
4 BRA(RIHA)22N BEERES S 33,600 26,000 7,600
OXINHAHIE 2 ARIEERE JI2RES 33,600
Il 26,880
Al 6.720
J1=ZHI(XI0f &) 23,920 25,100 21,180
J1=ZHI(XI0fetA ) 23,920 25,100 21,180
201 ZBt=Ehl 14,620 15,800 21,180
01 AtR2t2|HI 11,620 12,800 A1,180
oget=SHI 6,300
O= gl 4,320
Oul=H| 1,000




SA: XIOHHe ot
M HAEHAHI(XIOHLAD)
CHel: D123l (XI0NeHAI D (S &
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
02 S22l 3,000 3,000 0
O+t Et] 3,000
202 OH| 7,200 7,200
01 2L AL 7,200 7,200
OJl=g 280l 7,200
203 BRI 2,100 2,100
04 PAE2EERFAH 2,100 2,100
OFRN2ZYRFLH 175,000& « 122 2,100




